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itfaes v (PHYSICS)

Ryl a )
o U ¥ 4 Fmea A A ¥, i wdrfimew (Each question has 4 options, select the - g
e appopriate option) T
. 1. fagm s afrda gt Q. 1. Dimensional formula of electric .’
potential is : e
2—2 -2
(A) [MIT? A7) ) L
<@ IMET 2477 .
21 g2 N S
(B) [ML'TA™) AR o oy pef
VLS e mertat
(€) IMIPT34™ N o e
UL o) IMPT AT R
(D) MEPT347% e PR

o (D) [MLZT—3A—2]

L
W. 2. T &g famiaen @ oo e st _
Q. 2. A body starts from rest, the ratio of

2, T gm.iﬂ?) T R S H ™ distance covered by it in 4th & 3rd
#} TRit g T ST seconds will be : P
W % Y T

® % ® ¥
(C) % () %
o ¥ o ¥

7. 3. afk foredt faos &6t wfesr st 300% @gT Q. 3. If the kinetic energy of any body is
A I A 35 FAn H gl wnf - inceased by 300% then the incrase

in momentum of the body will be :

(A) 100% _
AEEEN . {2 e + et -
A 100% <€ 8L
(B) 150% —A) 100 CA.
(B) 150% SH KT
(C) J300% 0.\ o
5 C) V300% !~ Siwmukt
(O) 175% o 178 ¢ - S - 216
lg’ﬁ/xlov

- ka8



9 4.

. 5.

9. 6.

AR Joeft QURA FA AR FA I A g FIWH Q. 4. If the earth stops rotalion then value

YU [ W of g at equator :
(A) & A& </ (A) willincrease
QCP’ T
(B) FwM W _{B) remain uncharged
(C) wewmam (C) will decrease
(D) T A®E T ' (D) none of these
afk frdlt ar s et Pradies 4 ST 39 Q5. If the force constant of a wire is &,
T H qrzmﬁﬁfwmwamf%: then work done in increasing its
length by / is: -
ki : et
(A) P) ”‘i» ki C
1 \J"},_‘ A 5
®) Sk’
2 (B) %kﬂ o~
(C)
Q) u
D 2
D) w O) i

TR & Fogell 3 g s oga| Q. 6. The ratio of excess of pressure in

3:1% T AT 3@““3"‘“ . two soap bubbles is I : 1, then ratio
of their volume will bz :

(A) 1:3 (A) 1:3

B) 1:9 MB)y 1:9

(C)y 1:81 (C) 1:81

(D) 1:27 (D) 1:27



T 7. WRAETEE el O T S T T A & :

(A)
(B)
(©)
(D)
w8 uEm B fige:
(A)

(B)
(C)

=273°F
-183° F
—460° F

-132°F

27316° F
27316 K
27316°C

(D) 27316 R

Q. 7. The value of absolute zero temp. on
fahrenheit scale is :

(A)
(B)
(C)

-

-273°F
—183°F R
183 “C

—460° F
D
Q. 8. Triple point of water is :
(A)
AB)
(C)
(D)

-132°F

27316° F
27316 K
27316°C

27316 R

7. 9. Fromm W E MR edEmEERedd Q. 9. Order of freedom for a triatomic gas

2

(A) 2 (B) 4

(C} 6 (D) 8

. 10.FReT uvitass o1 @i oA ot 4

eI Woiiaer 1 2T 7 B W g

1=t
(n ="

is:
(A) 2
{C) 6

(B) 4
(D) 8

Q’IJO The relation between coefficient of
performance of refrigerator f &
efficiency of refrigerator 7 is :

-1

Y4

B)

(C)

(D)
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T 11 e S TR § 1% Fafg s Q.
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X
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11. If the length of a siniple pendulum

W ITH AETFTH NS \ is increased by 1% then change in
’\600 V3 "( - its time period will
. (¥}
(A) 05%Afga® O > o
. 1v2vY9  (A) Increase by 0-5 %
- :
B) 1% # gfg et A
®) 7< (%L 3% * (B) Increase by 1%
e
59, o ,/;_,
(C) 05 % Ft i e 5 o (C) Decrease by 0:5 %
<) <:;\
(D) 1% =i i e \ (D) Decrease by 1%
ERER mﬁaﬁﬁ%é\a T 60° §1 I Q. 12. The phase difference between two
et TR N sound waves is 6(°. Then path
o difference between them is :
A 15
A 3 P % 4
")"' 66/"[:1" . w 6
N TR 4
(B) 4 yér Koo 0 ¢ %
3 S AG 4 (B) 4
P ’}’3 3
>
A -
C) — ot A
) R
/,)A ;vf\‘*
A ,
D) — “b A
® 3 ® 5

W, 13.Tah HUT &7 Faenos et &
x=3sin (521)+ 4cos (5zt)qd HUT &HKT
3™ B ;

(A)
(B)
(€)

(D)

Q. 13. The equation of displlacement of a

particle is x=3sin (521)+ dcos(5x1)
Then the amplitude of the particle
is:

(A)
(€)
)

3
4
5



T, 14. 6T % T TG Tt 1 = 60 . ¥
AT WA W 500C AT | 7 H g

R 10 [t & gl o g v g
(A 1x10"Volt s
C—}’&
K 0
(B) 1.5x10"Volr
\f.
(C)  2.0x107volt % \é
L0 g
(D)  2.5x10"Volt ﬁ/ ﬁ;@
W
W 15. 600W — 1201 & BT o wfeler g :
(A) 6Q
(B) 12Q
(C} 18Q
O) 20

. 16.3R E = gt + pr* W ST A ST EA
& -5
(B)
(©)

(D)

\O

"5
L8
>

Q. 14. The diameter of a hollow metalic
sphere is 60 cm. The charge on

sphere is 5004C. The electric
potential 10 cm away from the

center of the sphere will be :
.

AA)  1x107Volt <L
0

\
- 7L%) 1.5x107 Volt u

- —— )
¢ v

o |
%gﬁ C) 2.0x10"voir

(D) 25x107Volt

Q. 15. The resistance of a heater of

600/ —1201 will be :

W s (i oo
- \’\’OQ" v
(B) 12Q Lo £
g &q)‘P
(C) 18Q
D) 240 e

Q.O'fs?. i E=ar+p then what will be

neutral temperature :

A 35

(B)
o7

(D)

<

b
+£\¢



w. 17. 50 faeht. 38 &t v Fusci | 2 udier

Q@lfi.fEnergy stored in a oil of 50 mH

T UWT YEEd S W FoSet | e after flowing a current of 2 Ampere
At g : will be :
(A)  0.05 ST . (A)  0.05 Joule
B) 0.1 R : (B)q- 0.1 Joule
(C) 055 NN
o \/5/3 ()o_\{“\‘uw 0.5 Joule
L %f,,) (D) 1 Joule
%.18. AC®IDCH = Q. 18. Conversion of A.C into D.C. is
T
called :
(A) e (A) Purification
(B) 3= (B) Magnification
(C) FRewtr (CY Rectification
(D) TAH AHE T (D) none of these
T 19_mﬁﬁwgwﬁwww%: @/19 The reason of shining of air bubble
in side the water is
(A) T 5 forre ”
(A) Diffraction of light
(B) W a1 fagqur
(B) Dispersion of light
(C) Yeniel & YahITH _ _
(C) Scattering of light
(D) T B) Total internal reflection of light

T. 20. % WA TUUT T T W 60° T HIUT W Q. 20. Two plane mirrors are

T g ¥ | Tk g Fonelt o % W
STt yfdfenaii shi SEam g

(A)
(B)
(C)

:
g2
¥

5
! S
L’w

3
4
5

(D)

-

inclined at
an angle 60°. The no. of images of any
object formed by both mirrors is :
(A) 3
(B) 4

ey 5

(D) 6



W 21 9T A gfaa S STt i 4 Q. 21. Light waves can be polarised

ARE: because they are :
(A) g9 AA) Transverse
(B) R (B) Longitudinal x
(C) uafda (C) Reflected
(D) T | FE T (D} None of these
. 22. 5000 4° AR At B ET EaTEm: Q. '22. The momentum of a photon of
(A)  13x1072 kg—m/sec ~ waxelength 5000A° will be : NS RS
(B) 1.3x10 P kg—m/sec el B 13x107 kg —m/see y U
w Nl (B) 13x107Pkg—misec
(C)  4x10Pkg—m/sec ‘“ < (© Ax 107 kg —m / sec
(D)  4x10" kg —m/sec TN (D) ax107kg—m/sec

W 23, m«m@%@m@ﬁm%

Q 23 The order of distance for the effec-

(A) 1910 1 tiveness of nuclear force is : e
) ?Jq—\ [
(B) 10_13-;?[_ —%q (A) 10“'10 m v 65 . \o
] v T - Uy
(C) 10 15 fﬁ (i’ __/-6/6’,”‘:(_;6 (C) 10—15 m /g
(D) 1020 #. Spx\o X D) 102 m 1h X A0

%. 24 4, Po2% 1 g P 1 ¥ swEt o Qg

AT AT HER TG HHIT:  :

The decay constant of ;, Po>™ is
A It’s half life and average life are

respectively

(C)

©

and Alog,2

U 25.0F Tt & Bl =50 B o T q, 25, For a transistor #=50 then o of

1 log, 2

&
log,2_ 1

® =™

(C) Alog,2 T E

(D) -~ T Alog,2

A EA :

(A} 024

(B) 0.48

<€) o072

(D) o0.98

the transistoris : - .

4AT 024 e
(B) 0.48 o
©) 072

(D} 0.98



A A (Chemistry)

Tk W % 4 fape e i €, S weh ferane
gfm=
. 26. T 9 X & GERE BT X,(50,); T
AT X & ISeTES T YA EAT
(A) X, N
(B) XN,
C) XN
D) X; N,

V. 27. I U SotaR Tien a1 W weret farege
TS ded HI S

(A) 2,82
B) 2,87
(C) 2.8 4
(D) 2,8,8

¥ 28. Frfoiftaa o @ @t o fafr et e
ol 30k faeTom § e & ok fore ST
o & oTE I el :
(A) omEaT
(B) Freactimmm
(C) amv=
(D) JeERFRY i
9.29. C @ O & CO, ¥ FAAH & AR
FTAR :
(A) 1:2
(B) 3:4
(C) 3:8
(D) 3:2

(Each question has 4 optiors, select the

appropriate option)

Q. 26.The formula of a su/phate of an
element X is X,(50,);. The formula
of nitride of element 3 will be :

A) X, N
(B) XN,

e XN
D) X, N,

Q. 27.Which one is the electronic
configuration of most electro
negative element :

(A) 2,82
(B) 2,8,7
(C) 2.8, 4
(D) 2,8,8

Q.28. Which method cannot be used for
/- separation of solute from its
solution :

(A) Distillation
_{B) Crystalisation
(C) Evaporation
(D) Separating Funne|
Q. 29.The ratio by masi of Cand Oin CO,

is: e L
A 1:2  °

(B) 3:4

Ae) 3:8

(D) 3:2



w. 30. 90 TR WA N Wich I W& R ¢

. 31

. 32.

. 33.

(A) 49

(B) 5 W&

(C) 109«

(D) 18 HiA
TeaRTUT 2T ITETTE

(A zZn** +2e > Zn
(B) Fet*™ +e” — Fe't
C) Mg Mg™ +2e

(D) Cly+2¢" >2C0°

?ﬂ%ﬁﬁﬁﬁﬁmmmﬁm

(A) g+t

(B) art

C) ar

(D) At

Tt Ao Y S W@ 31 3N 3
Ty § =gt @ WEm 16 € | g
TGS ht WA TR

(A) 31

By 27

(C) 14

(D) 15

[> I
L] A
v 1.

Y g

Q. 30.Number of moles in 90 gram of

water is : e
(A) 4 Mole M°“’%
(BY 5 Mole {)‘L

(C) 10 Mole

(D) 18 Mole

Q. 31.The example of oxidation is :

(A Zn™t+2e o Zn
(B) Fet**+e — Fe'*
L]
AS) Mg o> Mg +2e”

(D) Cly+2e —2CI~

Q. 32.Which one of the following is of

smallest size :

/(A) Attt

(B) art
Cy art

) Al

Q. 33.Mass number of an atom is 31 and

number of neutrons are 16. Number
of electrons in it will be :

L L
(@ 1 T
B) 27 O
®) s
(C) 14 -

Oy 15



¥. 34, Téeam o Wisw werell ® afora A@@ROT  Q.34. In packed food material inert

TR TR A atmosphere is mada by using gas, is :
A0 W o,
B H, ®) H,
C) N, © N
HH EH
W35 L [, IUPAC TmE: Q. 35. The IUPAC name of , |-l is:
! o
H H
(A) dadfesers (A) Acetaldehyde”
(B) WS (B) Formaldehyde *
(C) Ta (C)- Ethanal
(D) A (D) Methanal
¥. 36. Tk Ae T o T 2,8 ¥ | A Q. 36. Electron_uc conflg_lfrat-;\on of an
: ¥ Rerd #r - element is 2,8. It is placed in the
s ’ periodic table :
(A) v e (A) First Period
(B) fecita amart (B) Second Period
(C) =gy amad (C) Fourth Period
(D) Y= 3Ed (D) Fifth Period
¥. 37. Fq % WA A @/7 In the lemon juice will be :
(A) HY 3T wH, o~ 3F i (A) Less H™ ion, more pg - ion
(B) H* 3mH sk, gy~ 3 F1 (B) More H* ion, less gH~ ion
(C) H* T OH~ 3¥ I (C) Equal H* and @11~ ion

(D) ad H* 3mH (D) Only H* ions are there
-10- |



w. 38. B9 W Tt ARl 2 Q. 38. Which chemical reaction will
h n:
(A) MgSO4+ Fe appe
(A) MgSO,+Fe
(B) ZnSO,+ Fe
(B) ZnSO,+ Fe

(C)  MgSO, +Pb . (C) MgSO,+Pb

(D) CuSO, +Fe (DY CuSO,+ Fe
7. 39. T HTRERAGAL Q. 39. General formula of alkene is :
(A Cnhy, W iy
(BY CnH;n By CnH,n
(C) CnHy,y (C) CnH,,,
(D) CnH,, , (D) CnH,, ,
¥. 40. CaCl, ¥ W& WA ST T@EATHE ST, 40. The chemical bond found in CaCl,
%.2 is : PR
(A) STHEEHASTR {(A) Co-ordinate
(B) &SN (B) Covalent
(C) fore WA= {G) Electrovalent
D) 4 @0 g (D) Aand B both

7 41. PERfEaiasRT e dg s Q. 41. Which of the following ore does

Y ST <9Iar ¢ not represent the ore of iron :
(A) e | (A) Haematite
(B) TR (B) Magnetite
(C) A UEERE (C) lorn Pyrite
(D) FemTE {D)} Calamine

-11-



U 42,

U. 43,

W. 44,

. 45.

frefefaa & @ s AiRes @mram
& A9 W T g e

(A) et

(B) dferenmfa

(C) et CgToeydr weftet

(D) dich weiieia

Fe,05+241 > AL Oy +2Fe 39U
fraT R yER T

(A) wdre sl
(B) famm sifufran
(C) fordem afifirn
(D) feforeeme sififoran

w13 faeram 92 & i gu waw @
sfuferar T o g s FarE AR
F U B AT F LA T | 39 e |
g

(A)  Naclt
(B) H
(C) ka
(D) NaNO,

T TROT W oI1E @ &7 {1 ¥ 377t
=t gl & AN § HF W HAT I
g

(A) T e el wedl & |

(B) T SR # HE R

Q. 42. Which one of the following is

used Iin nonstick conkware :
(A) PVC
(B) Polystyrine

A€) Poly tetrafluoro athylene
(D) Poly ethyiene

Q. 43. Which type of reaction is :

Fe203 +24fI> A1'203 + 2Fe

(A} Combinatior reaction
(B) Displacement reaction
(C) Dissociation rearticn

y) Double displacement reaction

Q. 44. A solution reacts with crushed egg-

shells to give a gas that turms
lime water milky. The solution
contains :

. [
fyd - 3

(A)  NaCl ’1 07 o M
AB) HC a0 A

(C) Kka

(D) NaNO,

Q. 45. Which of the following statements

(A)

(B)

(C) W 3T & WA Fem R § (O

(D) =T MRS IR A S T & |

(D)

-12-

is not a correct staterrent about the
trends when going from left to right
across the periods of periodic table :

The elements becomes lass retallic in nature.”
The number of valance electrons increases °
The atoms lose their electrons more easily.”

The oxides become more aciclic. -



. 46. RAGH Wit &t T engd § Q. 46, Constituents of stainless steel are :

(A) FIR, S aon fea : (A) Copper, zinc and tin
(B) 31, shiftrrm et fdhet _kB) Iron, chromium and nickel
(C) IR, 3na a1 S+ (C) Copper, iron and zinc
(D) M, fo oo Uefifram (D) Iron, tin and aluminium
W. 47. TR 3116 WRE IR dr s g Q. 47. Plaster of paris becomes hard :
(A) CaCl, T (A) By liberating CaCl, -
(B) €O, =¥iftE (B) By absorbing C0O,
(C) & rawitd & (C) By absorbing water
(D) <1 q T (D) By liberating water
7. 48, URREN WA B THHFAWTEE Q. 48. Gas obtained by heating potassium
At A g : permagnate is :
(A) oHiSH A4K) Oxygen
(B) TEEH (B) Nitrogen
(C) e (C) Hydrogen
(D) e (D) Helium
W. 49. il @ HIel T YT &R el Dies Q- @ The compound gives yellow colour
?: ' ~" to glass is :
(A)  FeiFm TerES (&) Cadmium sulphide
(B) HIW e (B) Copper oxide
(C) i siedEe (C) Cadmium oxide
(D) HfE sifEs (D) Chromium oxide
W.50. Co~58 T Co—60 WA | FHHI Q. 50. Co-58 and (o - 60 are abundant
42.18% AT §7.820, UTT WA § | in nature as 42.18% and 57.82%
HIATEE T ST TOI] BN what will be the average atomic
. ] QL 4o
(A) 61 weight of cobalt : o Q\d‘i kb
B 60 (A) 61 e
(B) 60
(Cy 59 e 59
(D) 58 (D) 58

s¥3 -

62—




e famt (Biology)

I W9 % 4 e R g, 3wt faaea
fn
. 51. Frafafaa 9 @ & T a1 wgEen
T
(A)  rpfoeR T
(B) A F RS
(C) ETER F siiadRe
(D) RINH F HTFEES

e, TR, Wissral, i WRT ARTSY
uras % e ared B, wEema € -

(A) wgfer e
(B) =i

(C) FHRRge
(D) faerftrg

e % TS B S | I WehTeT H e
= FaTE e

(A) feet
(B) w8
(C) @
(D) T«

W. 54. e, AiFRI9g 3 foarw qoet § &
T U W FR0T R

(A) Aod o ¥ wa E
(B) = =i ® Iz Ft vt =&l wid S
(C) T T F I W e WY I &)
(D) Fmft 2T

. 52.

. 53.

(Each question has 4 options, select the
appopriate option)

Q. 51.Which one of the following is not a
common Air Pollutant :

A)
(B} Oxides of Carbon
(C} Oxides of Sulphur
(D} Oxides of Nifroge:n

Q«52.The fibre part of plants, fruits,
"7 vegetables etc are good for
digestion called :

(A) Balanced diet
{B) Roughage-~~
(C) Carbohydrate
(D) Vitamins

Natural Gas

Q. 53.Which part of the cactus plant
performs photosynthesis :

(A) Leaves
(B) Roots

AC)

(D) Flower

Stem

Q. 54.Which is a common character in
Ants, octopus and siarfish :

(A) They ail live in water
AB)
(C) Theyall have scal2s on their body
(D)

They all lack backbone

They ali lay eggs

-14 -



S
W.55. A @& Wty fum aview! &1 SeaA G.‘gsi Excretion of Bile pigments with the

(D) & FwE
. 58. UL ® TEuiet uror & fore smavas €

()

Fpafetfisa & | g e &% ol u&a urine indicates which of the
ALY following diseases :
A) (&) Jaundice
(B) g@ im (R¥ww) (B) Rickets
(C) T (C) Anaemia
(D) wpE (D) Diabete$
.56, T A P A A A ss-fcl:lohv::i':: "d;z;lgesw:ma;: :::
%uﬁnwﬁaaﬁwmim%: immune system of the body :
(A) = (A) Rabies
(B) rwiEE (B) Typhoid
(C) wH (&) AIDS
(D) federfie (D) Hepatitis
¥. 57. Frafafea o @ & aria geRate 7@ Q/57.Which one of the following
2: “" organisms is not a eukaryote :
(A) Feifrm (A) Paramicium
(B) 3w (B) Amoeba-
(C) Wit qeatie (C) Malaria Parasite

E. Coli

Q. 58. In plants the éutotrophic mode of

nutrition requires :

(A) FTe SETEES SR T

(A)
(B) wifzRa (B)
(C) yd = vm ©)
(D) SR wH A2

=15 -

Corbon dioxide and water
Chlorophyll |

Sunlight

All of the above



W. 59.

W. 60.

0. 61.

Y. 62.

Frofafam W @ S & &7 gaw T THqe
AT &FRE T L

(A) faafm ¥
(B) rEforISH
(C) uffism
(D) =R

et w1 9% WIE T ST € |
HeRm# :

(A) e S srfteT

(B) el iR werew
(C) oz iR 7Rl
(D) g iR gim wel

frafafas & @ #19 @ 9wl =R w
ﬂﬂ”ﬁﬁaﬁﬁﬁ%:

(A) 37

(B) T

(C) wfash s

(D) fifn
Frfafea & & Reaw dfeeT saew
T S

(A) wiess A

(B) WE=gH

(C) o (&=r4)

(D) ifiEmrall ®

-16 -

Q. 59.Which of the fcllowing is not a

blood clotting factor :

(A) Vitamin K

(B) Fibrinogen
(C} Thrombin

(D) Heparin

Q. 60.The group of animals belonging to

phylum Arthropoda is :

(A) Hydra and Amoeba

(B) Euglena anc Asiaris
(G Cockroach and 3pider

(D) Nereis and Prawn

Q. 61.Which of the following diseases is

not transmitted by niosquito :
(A} Dengue

(B) Malaria

(C) Brain fever

(D) Pneumonia

Q. 62. In which of the following Nervous

Tissue is not found :

 (A) Brain

(B) Spinal Chord

_€) Tendons

(D} Nerves
- B



7 63. MM A TRET S e AwearaRa@arE: Q- 63. In plants after fertilization seed is

transformed in :

(A) e
(A) Ovule
(B) sreww A (B) Ovary
(C) Y& (C) Embryo
(D) <M H (D) Gynoecium
q. 64. Trw o o afgFed aenafdssd o Q. 64. In which tissue trachieds and
R vessels are found :
(A) weFed (A) Cortex
(B) dveEH (B) Phloem
(C) ==d (©) Xylem
(D) et S | (D) Glandular tissue
. 65. WA TEoCH &1 W e & ¥ : Q. 65.The main function of blood
platelets is :
(A) Bk ED]

' (A) Metabolism
(B) & FT YFFH T
{Bj Clotting of biood

(©) ¥ (C) Respiration
(D) wr=d (D) Digestion
. 66. Frafifaa ¥ & w19 st i s Q. 66.Which of the following is not an

g: ; endocrine glanq :

(A) TFa A Liver |

(B) unies ufYy (B) Thyroid gland

(C) aivgees Uiy (C) Adrenal gland

(D) digu tify (D) Pituitary gland

-17-



. 67. Frafafaa & 9 &9 gaasar 2 :
(A) R wetet
(B) <
(C) W
(D) #EF
7. 68. Prffar A @ s @ A awa T
(A) wgRfem - demul
(B) @ - AR
(C) JEnfa - s Uy
(D) TEFE - STARM
7. 69. THTENTEl & w2Te &1 e ANW BT E
(A) MY
(B) q@H
(C) Tl &
(D) B aw
. 70. FIEH yieh ST VICTIERT hITYToRTE TS ST
%:
(A) TFH
(B) == H
(C) 3i@id
(D) He ¥
. 71. T 31T g gEEd: s g E
(A) FeleEed
(B) WA
(C) s d

(D) Fest

Q. 67.Which one of the follcwing is a
saprophyte :
(A) Malaria Parasite
(B) Leech
—C) Mushroom
(D) Frog

Q. 68. Which of the following is a mis-
matched pair :

4A) Adrenalin - Fitutary giand
(B) Insulin - Fancreas
(C) Vasopressin - Fituitary gland
(D) Glucagon - Fancreas

Q. 69.In mammals, the c¢ligestion of
starch starts from :

(A) Stomach

_(B) Mouth
(C) OQesophages
(D} Small Intestine

Q. 70.In human being Ro: and cones
cells are present in:
(A) Nose
(B) Skin
_A€) Eyes
A(D) Mouth
QCI_}. Enzymes and Harmores mainly
made up of :

{A) Carbohydrates
18] Proteins -

(C) Fats

(D) Cellulose

-18 -



T, 72. VT H WET Uy ST hE 8 Q. 72. Centre for protein synthesis in cell

is :
(A) TEEEw
/(Aj Ribosome
(B) wmwEritg . ,
(B) Mitochondria
(C) Tiiesh F/ _
(C) Golgi body
(©) : (D) Centrosome
¥. 73. Frfafaa o @ % @ visa vl deif - Q. 73. Which of the following food
AN A UAER E : products are obtained from the
(A) U, T roots of the plants : '
(B) o, T (A) Spinach, Cabbage
(B) Potato, Mango’
(C) =1, ™ .
(C) Sugercane, Onion
(D) e, WoR ) J(Ef Radish, Carrot
. 74. TE NS HT A 0 : Q. 74. Select the correct pair :
(A) faafmst - =led (&) VitaminB - Beriberi
(B) foaafmslt - ¥ (B) VitaminC - Goitre
(C) fafms - oGS (C) VitaminD - Anaemia”
(D) fefme - g (fedem) (D) Vitamin A - Rickets”
. 75. FAfaiaa W @ foew 3m ® surfter =& ,g@ Which of the following organ does
g ) not have cartilage :
(A) T (A) Noser
(B) T (B) Kidney
(C) = (C) Ear x
(D) varHe () (B) Trachea
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